<1#FET>
3400m
<2HET>
4600m
<1/phET>
2700m
< 2/NET>
3400m

BAE, /b
[Ci@->T&x<C
W5 R b
b
<1/hET>
6 00m
<2/hET>
1300m

1 o

J

'.'/ Ceet 2 ST
ssowaen - | R

< 1HET> WP
36 00m g*"l’ 4
<2HET>
4800m F3Y3
<1AET> TEE””&'ZO)’J\EF?-&
2900m o
SR U R
3600m e _
i INERRER B ¥R
RS- 4%K, #¥FH1TBERUAFAETDO—ER
c = e [1000~1011\ 1052, 1085, 1088~1091, 1092-(2~8. 14), 1093,
EL '“:EJ”;F’ IJ\ 1116~1126, 1571~1607, 1628—(1. 3). 1629~1640, 1643~1651,
B 1658, 1659, 1661~1666, 1669, 1686~1713& 1]
| BRI TERNS~T7HX, FFHBETD—ER( 1~999, 1092-1,
TEE,JII;%:IJ\ 1094-1, 1095~1105, 1128~1131, 1153~1367, 1373~1408,
1412~1414, 1569, 1570, 1608% it )
TN HFAETO—I(FE—/MNRUE/NEEREER)
BRRO—HRUHHIF4TE
ERNE=ZD|ERNER., 28X 1~ XFETO—E
TEBE=h TERII2EHR10~444%, LRS- oK, TEEHT.
A=Y\ XFETO—EB, {BL. FESETICDWTIE, F—FD

. 5

<1HET>
2000m
< 3/hET>
350m
<fEB/NET>
1050m

4 .

ERINB—h
R

NERIB=E Y

o B\ 'Y
@, ,
\ R
A\ 4

j

’

o <1ET>
A 1600m
<2HFET>

3000m
o <1/hET>

2000m
< 2/NET>
1700m

¥ BLUE, 8/
Ve W@ ->TET
1 VWA ERHEN

s
< 1/hNET>
1700m
< 2/hET>
1400m

» BEar
{ <1HET>
) 1400m
iy <2HET>
i 1900m
¥ A <1/hET>
' 1800m
< 2/NET>
1300m

<1HET>
) 2400m
<2HET>
. 1400m
= <Z/hFET>
1600m




